



01467 651 000





and accordingly the company, its employees and authorised agents can accept no liability whatsoever, either indirectly or directly arising from the use of its products in connection with any information or advice contained in this guide.

TECHNICAL SUPPORT

Detailed guidance and assistance with the preparation of specification and use of Breedon Fyfestone products is available through the sales office.

FOR FURTHER INFORMATION, **PLEASE REFER TO BREEDON FYFESTONE TECHNICAL** SERVICE:

01467 651 000

masonry@breedongroup.com www.breedongroup.com



HIGH QUALITY MASONRY PRODUCTS SUPPLIED TO THE UK CONSTRUCTION MARKET

Breedon Fyfestone is one of the largest manufacturers of architectural masonry and walling solutions within the UK construction industry. Breedon Fyfestone has also become an established name for providing masonry and walling solutions within the housing and domestic market.

Our range is specified and used by the housing market throughout the UK. The course heights and regional stone colours available allow greater flexibility for the regional developer, builder and selfbuilder, as well as providing the necessary requirements to meet local area planning needs.





Breedon Fyfestone provide a contemporary range of products suitable for all walling applications including garden walling and landscaping work as well as conservatory bases, extensions and housing developments.

The range is also specified and used by architects and design and build contractors for a wide variety of commercial building projects. Our products are recognised for their quality and are highly durable and colour resistant. The proven 'wholelife' weathering benefits of Breedon Fyfestone ensure that clients' projects achieve an excellent finish and apperance over the long term.

The range is highly aesthetic and replicates many of the colours and textures found in natural stone walling throughout the UK market.

As well as outstanding products, we offer all the technical support functions that are expected of a major industry force, backed by the resources and technologies of the Breedon Group of companies.

THE BREEDON FYFESTONE PRODUCT RANGE

Breedon Fyfestone are an environmentally responsible producer of high quality construction materials to benefit the built environment.

Available finishes include: Split. Tumbled. Bullnosed. Pitched, Polished, Textured and Fairfaced. Smooth and Textured facing bricks also compliment the range.

Above left: CS1 Left: CS2



BREEDON FYFESTONE ELITE

PRODUCT INFORMATION



Elite products provide a reconstructed walling range to suit any building application. Available in 14 colours and 4 finishes. We also manufacture a double-faced block, which is ideal for garden walls.



Also available in mixed colours 1. Cottarstone Grey - CS1 2. Cottarstone Buff - CS2

TEXTURE AND SHADE

Blocks are free from significant blemishes. have clean arrises and have a regularity of colour and texture within the limitations allowed by naturally occurring materials.



ELITE BULLNOSED

A sustainable reconstructed stone walling range with the inherent beauty of finegrained free stone walling.

m² / pack (approx)	Units / m² (approx)	No per pack
4.00	30	120
4.00	15	60
3.60	10	36
3.60	15	54
	(approx) 4.00 4.00 3.60	(approx) (approx) 4.00 30 4.00 15 3.60 10

ELITE PITCHED

Lightly hand dressed to give an accentuated, but stable convex appearance block for the perfect alternative to natural stone.

Size (mm)	m² / pack (approx)	Units / m² (approx)	No per pack
440 x 90 x 65	5.33	30	160
440 x 90 x 140	5.33	15	80
440 x 90 x 215	4.80	10	48
290 x 90 x 215	4.8	15	72

ELITE SPLIT

Simple split finish and subtly blended shades faithfully reproduce the traditional dressed appearance of natural rustic stone and sandstone masonry.

Size (mm)	m² / pack (approx)	Units / m² (approx)	No per pack
440 × 90 × 65	5.33	30	160
440 × 90 × 140	5.33	15	80
440 × 90 × 215	4.80	10	48
290 x 90 x 215	5.40	15	81
290 x 90 x 65*	6.14	44	270
290 x 90 x 140*	6.14	22	135

^{*}Size not available in all colours

ELITE TUMBLED

A rugged finish gives Elite Tumbled a beautiful worn, weathered appearance typical to traditional stone areas.

Size (mm)	m² / pack (approx)	Units / m² (approx)	No per pack
440 x 90 x 140	5.33	15	80
440 x 90 x 215	4.60	10	48
290 x 90 x 215	4.80	15	72
220 x 90 x 65	5.33	60	320
290 x 90 x 65*	5.45	44	240
290 × 90 × 140*	5.45	22	120

*Bed size may vary due to tumbling process

*Size not available in all colours

The following charts illustrate 3 different ways in which Bullnosed, Split, Tumbled and Pitched can be built.



COURSED

440 x 65mm* 440 x 215mm

*Not available in Tumbled



UNCOURSED

35% 440 x 65mm 50% 140 x 440mm 215 x 290mm



225mm COURSING 100% 215 x 440

The shades illustrated are as accurate as modern printing will allow. The manufacturer of Fyfestone Architectural Masonry cannot be held responsible for the apparent fading of colour or any other effect on the appearance of any product due to "efflorescence" which is a characteristic of all good quality products with high cement content. The effect generally disappears with time. As Fyfestone is a split face product there can be a fraction of pieces that may be condemned as waste and a maximum of 5% is built into the price.

PAGE 5 PAGE 4 A FYFESTONE WALLING SOLUTIONS

PREMIER FACING BRICKS

Breedon Fyfestone manufacture a range of premier facing bricks which offer accuracy of size, high strength and overall aesthetics. Premier facing bricks are available in smooth and textured finishes.













Size, weight and coverage (smooth and textured)

No. of bricks per pack	416no
Brick weight (kg/m²)	168kg approx
Brick weight (kg)	2.8kg approx

FYFESTONE COPING

Our coping provides a high quality and economical alternative to natural stone

- Copings are double faced and shot blasted on the top
- Available in a wide range of colours
- Size 440 x 65 x 150mm wide
- Other widths available (180mm, 270mm, 360mm and 450mm)





